S
X
iy
o

&
o
N

X

iy

o
&

2 f N
= C > C
Q0,05 -+ e R ]l ------ 0L e Rt CITRTLS
o] - Q -
v N \ [ 1
Ot ++++.¢ (O | A A 1 N
T R N— — — T RS S S— Siine
T . S -
A SO B SO S S SO B S PR

Ratio
Rati

0.95 :
107 1

-1 2 3 2 3
10 1 TPlpg)T (PCA t%obeamliné[f) TPlpoT (PCA t%obeamliné[f)

—=— DQM_V0001_R000000001__Global__mkFitlOmuon-basel__RECO
—— DQM_V0001_R000000001__Global__mkFit10muon-base2__RECO

g 100_ glOC:
= [ 2
1A} 80- N
? R e _DN
s | o
\ F \Y
BOf - - m
T AR S S S
D ISR N S 2 -
e S . R S
° ;.W: NI PRI RTINS Vel SRV EPRPUVHF EUFFUTTH Bl RO
I r I r
[ x f
1_— ------------------------------------ -+ 1_— -------------------------------------- <+
- -+ 095.

0.95 .
10 1

2 3 —1 2 3
TPlp?T (PCA t%obeamliné'p 10 ! TPlp?T (PCA tjbobeamliné'f)

Y

<op./ > (Yo
PP, > (70)
O = N W N O

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


